Math 301-103  Sec: 01  Quiz 4 (A)

Q.1: Solve y" + 5y’ 4+ 4y = 0 with y(0) = 1 and 3/(0) = 0.
Sol: s?Y (s) — sy(0) — y'(0) + 5sY(s) — 5y(0) +4Y (s) =0

= (s2+5s+4)Y(s) =s+5
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= y(t) = §€_t — 56_4t.

=Y(s)=

Q.2: Find £-! {M}

s2+4

25+ 1)e 2 2572 728
Sol: £~} —< =Lt
ol: £ { s?2+4 } £ {32+4+32+4

= (20082(t— 2) + %SinQ(t— 2)) Ut —2)

Q.3: Solve f(t) =2 — 4ftsin(7')f(t — 7)dr for f(t).
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I: F(s) ==~ — F F(s) === F(s) = —— =
Sol: £(s) s 5241 (s) = (32 + 1) (s) s (s) s(s?2 +5)

2/5 85
_2/5 8/5s

F
() S s2+5

= f(t) = g + g cos(v/bt)



